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A 25, ~125, 625, 3125, ... T ndl 4g 1
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(a) (-5t

(b) (-1 5™

(¢) (-1 151

{d} f—l]n_l 5n+l

qH #ifee X = (1,2, 3,4 8 IR X W TH
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(2-A)

afe AT
B=Ixez:x2+x+lzm%,"ﬁfﬁ2ﬁ¥
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(a) Teoa wg=a

o {-1+J§i) —1—J§i}

2 2

A=(xeZ:x321=0)

4 4

{—14-J§i —l—v@.i}
{c) ;

i {hﬁij 1—4’51}
2 2

T wfted wg=El A o B % fom fafafiaa
FeAl W fEw Fifio .
1. (ANBIUMANBIU(ANBI=AUB

2. (AU(ANB)I=AUB

I FEH B " R T A 0
(a) hae 1

(b) Hae 2

(¢) 13 2gHt

(@ FTar 1A% 2

T ifw X v 21fEa o= 2 o e i
A, B, C 9y=4 X % Imoqg= & | Pl
FeHT W famm ifaw -

1. AcC=(ANB)c(CNB),
(AUB)c(CuU B}
2. (ANB)c(Cn B)AH B ay==l & ferw
=Ac(C

3. (AUB) c(CUB) Taft B gg=ai & feru
=AcC
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(a) whad 1 N 2

(b) “heel 2 R 3

(c) heer 13 3

d) 1,23M 3



th

1. What is the n term of the sequence
23, 125, 625, -3125, ... 7
(a) - (-5
) (D 5™
(f  =1rrlgh
(d) i ”n-—l 5'1+1
2. Suppose X = {1, 2, 3, 4} and R is a relation on
X IFR = ((1, 1), (2, 2), (3, 3), (1, 2), (2, 1), (2, 3),
i3, 2, then which one of the following is
correet ?
{a) R is reflexive and symmetric, bul not
transitive
{b)> R is symmetric and transitive, but not
reflexive
(e} R is reflexive and transitive, but not
symmetric
(d) R is neither reflexive nor transitive, but
symmetric
3. A relation R is defined on the set N of natural
numbers as xRy = X2 - dxy + 3_1;2 =0, Then
which one of the following is correct ?
{al R is reflexive and symmetric, but not
transitive
(b} R is reflexive and transitive, but not
symmaetric
fe) R iareflexive, symmetric and transitive
idl R is reflexive, but neither symmetric nor
transitive
EDF-5-DGY

4.

5.

(3-A)

ITA=|xe 7 :x"—1=0}and
B={xeZ:x"+x+1=0}, where Z is set of
complex numbers, then what is A N B equal
to ?

{a) Null sel

[“1+481 -1~B1]
[43)] 1 2 N 2 I‘
i) [_1+J§iF_-1.-J§i
| 4 4
. 1+431 1-43i
w [ 1=

Consider the following statements for the two
non-empty sets A and B :

1. ANBIUMANBIUANBI=AUB

9. (AU(ANB))=AUB

Which of the above statements is/are correct ?
{a) 1only

(b) 2only

{c) Both1land?2

{(d) Neither 1 nor 2

Let X be a non-empty set and let é'!u,- B, C
be subsets of X. Consider the following
statements ;

1, AcC=ANB ciCnB),
(AUB c(CURB)

2. (ANBIc(CNB)forallsets B=AcC
3. (AUBIc(CUB)forallsetsB=AcC
Which of the above stat;e:n&nla are correct 7
(a)  1andZ2only

(hy 2 and 3 only

(e} 1and3only

fd) 1, 2and 3



9. aﬁ ﬂ%,?ﬁwaﬁ

(a) YRR TR
(b) HAHTHIT IR

(el ?Hﬂﬁﬁ AR
(d) =FTEm gE
x =3 1
10. I |w 1 i
0 2 —i
AT S 2
a) —-3,4
(h) 3,4
e} 3,—4
d)y -3,-4
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7. @4 B=|2 4 0|2, d B® ueged I8
1 1 0
ferers s 2 0
[0 0 0
{a) 0 o o
=8 <=F @
[ 0 -8 12.
1 3] g 0 =1
0 0 8
w0 2
e |0 0 1
0 0 0
(d) THFI Afaa 751 & 13.
8. FHHW X’ -x-6|=x+2 HHAFE?
(a) —-2,1,4
h) 0,2 4
¢} 0,1,4
(d) -2,24

14.

=6+11 &, a1 x 3T v+
15.

(4-A)

Mad 4022+ 22+ 1=030
202 10 FEd UE #

(a) =1,
b) 1,0
© -1,
d)  w w

I €20, n +2) = C(20, n — 2) %, A1 n fFTH
T 2 2

fa) 8

(by 10
ey 12
dy 16

T GAde W 10 g 7@ | 5 fagan 0 1 i o
T fog v wie v | 6 § | 3wt et
1 Fa T fEaft & 5 5 famgedi 1 S
TS T AT £ 2

la) 90
(b 45
{cy 40
{d) 30

aﬁ(b,ﬂ"ﬂﬁﬂpxz+qx+r:0{ﬁ1ﬁp,q,r
aft vene B) ¥ fm amafes m@ § O
ffafen 0 5 R ws @@ 2 ¢

fa) a=0 b=0

ib) a<0 b<0

ic) a=0 h<0

idry a<0 b=0

T A=, w)) B, @ AF EE o= (Wa
#e) 2

(a) {4, (o), (1, (%, pl)

(b) 1o, (&, (A, pi), (At W)

[c) o, {al, {4, b, 18, 1A, puih

(dy  HAL (A, wh A, 1A, plhl



3 2 0
e ITEB=2 4 0], then what is adjoint of B
1 1 0]
equal to ?
] 0 0
(a) 0 o o0
=g =1 8
0 0 -2
(b} o 0 -1
0 0 8 J
0 0 2
(c) 0 0 1
o 0o 0
{d) It does not exist
8. What are the roots of the equation
|x° - x - 6| =x+2? '
fa) -—-2,1,4
by 0,2, 4
(¢} 0,1, 4
dy -2,2,4
0 1
9. If A= i gl then the matrix A is a/an
{a) Singular matrix
(b} Involutery matrix
{c) Nilpolent matrix
(d) Idempotent matrix
s —di 1 -I
10, If |y 1 i |=6+11, then what are the
Q 2i —1
values of x and y respectively ?
(a) -3,4
(by 3,4
(e 3,—-4
(d}y -3,-4
EDF-5-DGV

11.

12,

13.

14.

(5-A)

The eommon Toots of the equations
z° +22° + 22+ 1=0and zmw+;2mﬂ+1={]
are

fa) —-l.w

b 1,0

R o

() w0

If C(20, n + 2) = C(20, n — ), then what is n

equal to ?
(a) 8
(by 10
e} 12
tdr 16

There are 10 points in a plane, No three of
these points are in a straight line. What is the
total number of straight lines which can be
formed by joining the points ?

(a) 90
by 45
(e} 40
(d) 30

The equation pxz +gx + 1 =0(where p, g, r, all
are positive) has distinet real roots a and b,
Which one of the following is correct 7

(a) a>0 b>0

by a<0, be<0

i) a=0 b=0

id) a<0, b=0

If A = {A, [4, i}, then the power set of A is
(a) ¢, {0k {A), 1A, pHt

(b) Ay, 1A}, Ha, bl 1404, i)

fe) o, (A, 0, mdy 12, 1, pill

(dy (A, (2, i, 12 A, i



w31 AT 02 (F) wvET @ o Rl we

foreht foremem |, wfi om 69 s o @l (F9ER
) — yrae, & oin ae o § HRaHe
we @erd ¥ | 60 9T T W §, 50 Twe 2w
aed 8, 48 W Wew ¥, 12 oy ofi w3
wed #, 15 %W i daw fwm A @e €
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16.

17.

18.
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foemera § ol @ =gEEn dEm F= A g
&2 :
(a)
(b)
(¢) 95

123
111

(d) 63

famem #@ ot it wfieon gen feaht B
Hepell & 7

(a) 111
(b) 123
(e) 125
(d) 135

M A Wil 3 F UF dEE AEgE R, @
THHIFEH qfae™ (A

22.
(a) Y[PT AT qOWT R
(b) A% =R #
() 9A% e B
(d) 1 sifEae 4
(6-A)

19.

20.

21.

A, #ifE 3 F W vER F uw T g §
TWE i H OWE 4 B | ek ufEd &
e Rocics b

(a) 64
(b} 36
(c) 32
(dy 4

6 Wil o 4 efiel o @, ve walem
5 =aferal ) el e = @ | 7R feet wen
# fom 1 gwar @ @i F0dF0 s el
1 el STavg w2

(a) 209

(b) 210

(¢) 246

(d) 242

[(2x — 3y)® (2x + 8y)*)? & fomm # @
TEAT

(a) 4

b 5

(¢ 8

(d) 18

1+ ax)" o feream o, weet 17 92 A 1, 12x
¥ 6ax* & | n forerh aran # 2

(a} 6

by 9

(e} 10

d) 12



Consider the following for the next 02 (two)
iftems that follow :

In a =chool, all the students play at least one of

three indoor games — chess, carrom and table

tennis. B0 play chess, 0 play table tennis, 48 play

carrom, 12 play chess and carrom, 15 play carrom

and table tennis, 20 play table tennis and chess.

[l

16, What can be the minimum number of students
in the school 7
(a) 123
(by 111
e}y 95
d) 63
17. What can be the maximum number of
students in the school ?
ay 111
by 123
(e) 1256
idy 135
18. If A is an identity matrix of order 3, then its
inverse (A7)
(a) isequal to null matrix
(b} isequal to A
{c) isequal to 3A
id) does not exist
EDF-5-DGV

19.

21.

22,

(T—A)

A iz a square matrix of order 3 such that its
determinant iz 4. What is the determinant of

its transpose 7

(a) 64
(hy 36
() 32
d) 4

TFrom 6 programmers and 4 typists, an office

wanta to recruit 5 people. What is the number

of ways this can be done so as to recruit at
least one typist 7

(a) 209
(by 210
(e} 246
{d) 242

What is the number of terms in the expansion
of [(2x - 3:;}2 (2x + 33,*}*'7!]2 7

(al 4
(b} &5
(e} 8
(d} 16

In the expansion of (1 + ax)", the first three
terms are respectively 1, 12x and 64x>. What

isnequal to ?

(a] 6
by 9
{e) 10
(d)y 12



23.

24,

25.

T 1, 5 3R 25 €1 95 (FEFTE w9 H AT
v T ) B A6 &

(a) ad UH AP

UF § aAftrs W uftfie dem d Aps &
(¢) F9Tfa TEm 5 APs &

ftfir wear § GPs %

(hl

(d)

TRt AP (p + qd 3N (p — q)F BT T ITHA

 aE R
(a) (2p)d 9% %
(b)  (2q8 98 %
(¢) pd IS HTHH

(@) of TBHGHF

qg A, HIR n > 1 & T T A=ZE B, q
f=fafea § & $H-m v udt & 2

{a) deti—A)=detA

(b} det{-Al=(—1"detA
ie) deti—Al=—det A

id) deti—A)=ndetd

26. 25 cosec® x + 36 sec? x T ZAAH HH HT
-
(a) 1
() 11
fed 120
d) 121
EDF-S-DGV

Tt Hr arer 02 (F1) Al & fore Ferforfe @
farame &ifae -

27.

28.

o efifem A 3R B, (3 x 3) egE # W@
dﬂtﬁ=43ﬂidetﬁ=3% |

det (2AB) feraes st=t 8 2

fa) 986
(by 72
(e} 48
@ 36

det (3AR™) bereh =t 2 9

(a) 12
b) 18
{c)y 36
(d) 48 ,
T ST are 02 (F1) FvAT & fow At o
fareme &ifare -
- UF [y TEm oW YR 4 M 2 %
L, L1t2
T

29.

30.

z =Rl W4T &1 & 2

(al 4
(h) 2
er 1
1
{EIJ E
2 1 GG IV 41 8 7
tal 0O 1
I i
(b} 1
R
{CJ E
idy =



28, The numbers 1, 5 and 25 can be three terms
{not necessarily consecutive) of
{a} - only one AP
{h)  more than one but finite numbers of APs
(e}  infinite number of APs
(d} finite number of GPs
24, The sum of (p + q)th and (p - q}"h terms of an
AP is equal to
(@)  2p)™ term
(b} {Zq]m term
{0 Twice the p'® term
(d} Twice the qth term
25. If A is a square matrix of order n > 1, then
which one of the following is correct ?
(a) det(-A)=detA
(b} det{—A)={(-1"det A
(e} det{—-A)=—detA
(d}) deti-Al=ndetA
268, What is the least value of
95 cosec” x + 36 sec” x 7
fa) 1
b} 11
{c) 120
dy 121
EDF-2-DGV

Consider the following for the next 02 (two)
items

27,

28,

Let A and B be (3 x 3) matrices with det A =4
and det B = 3.

What is det (2AB) equal to ?

{a} 96
by 72
{c) 48
(d) 36

What is det (3AB™1) equal to ?

fa) 12
th) 18
fcy 36
(dy 48

Consider the following for the next 02 (ftwo)

ilems:

29,

30.

(9-A)

A complex number is given by z = 1+—213 ;
1-(1-1)

What is the modulus of z 7

(a) 4

by 2

{cd 1

@ 3

What is the principal argument of & 7

(a} 0
b3
{b) E
14
I:C} E
(dy =



sin 34° cos 236° — sin 56° sin 124°

H AA F41|35. BH HA TR ?
cos 28° cos 88° 4 cos 178 sin 208° ?

'% 2 (a) -1
(a) -2 (by 0
by -1
© 9 ey 1
() 1 ) 2
32. tan 54° FI Few wer sl RRar S wwa | ST o Tt 02 (31) St @ farg Rt w
29 Fareme &ifor
(a) B0 g 6 78 fom T R fF cos (0 - o) =a, cos (0= P =b
sin 97 — cos 9° -% |
(y Sin9° - cos°
SRagrcoed 86. cos (o~ p) o aa & 7
(© cos 9% 4 gin 9°
e (@) ab+ |1-a2 {1-b?
() sin 36° N
cos 36° () ab—1-a2 J1-b?

am?ran#mﬁas (1) wat & ferg Aot o (© ayl-bZ —by1-a’
A p=Xcos 0-Ysin®,q=Xsin0+Ycos 0
I p? o+ apg + q° = AX® + BY? B, @l

(d ay1-b% +by1-a2

87. sin? (o —P) + 2ab cos (o~ B e awe & ¢

D<B< —: 21
33. EIEFIHHW‘E,’? (a) a4+ b?
@ 3 (b) aZ-b?
w e) b?-a?
8 (@  -(a%+bd
() f
. 88. M sin o + cos o = p B, A cos® (20) TFEH
6 WETR P
34. A HI AEER? @ g
E:i : () p°-1
© 2 (0  pi2-p?
(d) 1 ) pP+1

EDF-S-DGV (10-A)



31.

32.

What is the value of
sin 34° cos 236° — sin 567 sin 124"
cos 28° cos 88° + cos 1758 sin 208°

fa) -2
thy -1
(e} 2
dy 1

tan 54° can be expressed as

ain 9° + cos 9°

(a) gin 9° — pos 9°
gin 9% — ooz 97
b a0
(b) s1n 9° 4+ cog 9°
() cos 9° +gin 9°
cos 9° — ain 9°

sin 36°

) e

) cos 36°

Consider the following for the next 03 (three)
itemns :

Hp=XcosO0—-Ysin0,q=XsinB+Ycos 8
and p’+4pq+g” = AX* + BY", 020< .

33, What is the value of 68 7
I
ial —
i
by =
3
T
} =Xy
L 1
Y T
: Ei
id) g
34. What i1z the value of A ?
{a) 4
by 3
c) 2
dy 1
EDF-5-DGY

35.

What is the value of B 7

fal -1
by 0
fed 1
d) 2

Consider the following for the next 02 (two)
items ;

36.

a17.

38,

(11-A)

Tt iz given that coz (8 — o) = a, cos (B — ) = h.

What is cos (e — [}) equal to 7

(@) ab+ {1—a% |1 b
(b) ab- y1-aZ {1-b?

(e}  ayl—b% —byi—a?

{d) ayl1-b%® +by1-a®

What is sin® (a - B} + 2ab cos (o - () equal
to ?

tal .-12 + h2
(b) a®-b°
(&0 b°-a’
(@ —(a®+b%

If sin ¢ + cos ¢ = p, then what 1s cos” (20)

equal to ?

{a) p2

) pi-1

© pi2-p?)
(d) pz +1



39.

2
A, "ﬂf& sin‘1ﬁ§: —cus_” M tan ™!

14 C—15 b

sin” g-rse G Q?IH'I:IEF‘:IT%?
b

a) —

¢ 4

Ly o F

(b} 5

e} m

(dy 0

2%
1-x

1+p l+qg

B, 7 x fopes s g 2

(a)

(b)

l+pg

{c}l ﬂ
1+pgq
P+4

id)
1-pg

41. afZtan o= :21- G-ﬁftantp:%%, i (0 + @) I
T T 7
(al O
b A
(b 6
T
{C] E
s
(d) =
EDF-5-DGW

42,

43.

44,

45.

(12-A)

'\I "y
?lﬁ cos A = ; %, G| sin[%j ﬁin[%J =l AH

FTR 7
(a} g
(b) f—ﬁ
(c) %
(d) %

tan 75° + cot 75° <RI HH w%_?

fa) 2
(b) 4
(¢} 243
d 443

cos 46 cos 47° cos 48° cos 49° cos 50° ...

eos 135°
I OH F1 & 2
(a) -1
by O
{c) 1
(d) 1% s1fter

aﬁsm2ﬁ=msae,aﬁn<qu‘a,ﬁsina
formes w2 2

1."'5+1
4

o
4

V5 +1

16

J5 -1

16

{a)

(b}

()

(d)




1

2
39. What is the value of ==:in:LE FEpe¥e
b 4 2
(a) —
b i
(b} 5
) =
{dy 0
.
40. I sin™t 292 < cu$_11—q2 = tan™ 2K2,
1+p l+g 1-x
then what is x equal to ?
@y 2r4
1+pq
b 22
1+pgq
Pq
(c) —=
1+pg.
@ P9
1-pq
41. Iftan 0 = é— and tan ¢ = %, then what is the
value of (8 + q) ?
ta) 0
T
b =
B
T
ich —
4
T
d s
{d) 2
EDF-5-DGY

42,

43.

44,

45,

{13-A)

If cosA=—,

4
A‘\ ﬂ‘\
slin[— | sin[-w--J ?
2/ 2

5]

{3] E

5
®
5 &
24

T
d gl
@

What is the value of tan 75° + cot 75°7

{a} 2

ihy 4

© 243

{d) 41.":?;

What 1z the value

coa 46° cos 477 cos 48° cos 497 cos H0°
' cos 1352 7

fa) -1
{by 0
(el 1

(d) Greater than 1

If sin 26 =cos 30, where

whatis =in 8 equalio?

o) J5 +1
4
(b :@4—-_1
o B
(d) “51; :

=zt E,
2

then what is the wvalue of

then



46. qﬁ'ﬂ‘ﬂﬂ?{mxg+px+q=ﬂ€ﬁ1{:€tan19”m
tan 26° #, 1 F=fefgs ¥ 4 S99 = T
87
fa) g-p=1
(b} p-g=1
e} p+g=2
(dy p+g=3
47. n Y afl s AP frEs wgl w1 aea
nin + 1) 8, &1 =97 92 R 2 2
fa) 6
(by 8
(e} 12
(dy 20
48. (1 +tan « tan ) + (tan o — tan B)° —
sechla'vaﬁ
foFeeh e 8 2
(a} 0
(b} 1
ey 2
(dr 4
49, Qﬁp:cuscuﬂ—mtﬂ ﬁ?q:{cnsecﬂ+cut gy
2, @ Frafafas 8 9 sh.a v ud 2 7
(a) pg=1
(b} p=4q
el p+gq=1
dl p+q=0
50. Ifc v YT ABCH FW 1:2: 3% 9 8§
&, dt s e R e § § 0
(a) 1:2:3
(by 3:2:1
(€} 1:43:2
(d) 1:+3:42
EDF-S-DGV

51.

(14-A)

Frafafigs et o fomm #ifao .

1. Uk W e g, qide w o d,
xcosO+ysinO=p 8 WRET (¢ p
L1 S LA B C 1
|acos O+ Psinb+p| R |

2. fag m,ﬂ}ﬁi‘@—|—_1m@°ﬁm
?mﬁwmfﬁg%gﬂéu

I HEEl B H BE-AVE wE AR 2

(a) I 1

(b) e 2

(¢) 132 dF

(d A1, AHE2

52. UH T x° + y* = a” 1 U a1 H1 =H THH

%@WW%IWW,Q@TX+}?:aW
fra & | 99 =1 Tt &= R 2

(al xg+y2—ax—ay+azzt}

{b} x2+y2—a_x—a}r=ﬂ'

{© x*+y*+ax+ay=0

{d} x2+}r2+ax+ay—2a2:{]



46. If the roots of the equation X% 4 px+q=0are
tan 19° and tan 26°, then which one of the
following is correct ?
fa} q-p=1
by p-q=1
{c) p+q=2
d} p+q=3

47. What is the fourth term of an AP of n terms
whose sum isnin + 1) 7
{a} 6
{b) 8
(e} 12
(dy 20

48, What is
{1 + tan o tan [5}2 + (tan & — tan H}E -

sec” o sec’ p
equal to ?
fa) 0O
b1
¢} 2
(d) 4

49. If p = cosec 8 —cot 8 and q = (cosec 0 + cot ),
then which one of the following is correct 7
fa) pg=1
by p=q
e} p+g=1
id) p+g=0

60. If the angles of a triangle ABC are in the ratio
1:2:3, then the corresponding sides are in
the ratio
fay 1:2:8
by 38:2:1
(€ 1:43:2
@ 1:43:42

EDF-S-DGV

51.

62,

(15-A)

Consider the following statements ;

1. For an equation of a line,
xcos 0 + ysin 0 = p, in normal form, the
length of the perpendicular from the
point (c, ) to the line is
|cos O+ BsinO+p|.

2. The length of the perpendicular from
the point (o1, B) to the line X4 :; =1 is
a

aw + b - ab

.,Il'aEE + b2

Which of the above statements is/are correct 7

(a)  1only

(b) 2 only

(e} Both1and 2
(d)  Neither 1 nor 2

A cirele is drawn on the chord of a circle
x% + y* = a® as diameter. The chord lics on the
line x + y = a. What is the equation of the

circle 7

(a) x2+y2-ax-ny+nu=ﬂ

2

(b) x +y2-ax-ay={'}

K

el x +y2+nx+u}"=ﬂ

(d) x2+y""+ax+ay-232mﬂ



53. UF dgw W fReft fag < it et W

bd.

55.

TATHS 3T € I T8 I 8
(a) o 2357 I TS H
a1 1 T %
(c) ATfieia Hr ereaTd &

(d) AdEH I aderyg ref i o %
AT &

(h)

gt 2x” —3y? —6 =0 &l = 8
(a) TH I
(b} T Waed

{c) ﬁfﬁﬁgﬁ
(dy W AlgEeE

aqﬁm}j=4axaﬂ( x”::ﬁy'ﬂﬁﬁ%
(a) f@“{y:xqﬁﬁaﬁﬁaﬁq{
(b) hae qei-fag ™

fc) ﬁﬁ?ﬁ@&ﬁmﬁ?ﬁﬁﬁy+x=ﬂq{
T 2

(d) Hae (4a, 40) T

56. famg (1, 3) @R (5, 1), UH A9 % T gH{E I
glmﬁﬂﬂﬁmfcﬂx+cmﬁ§lﬁﬁlcﬂ
e e 2
{a) 2
(hy =2
(o) 4
(d) -4

EDF-S-DGV

7.

8.

59.

60.

(16— A}

ﬂﬁi’@'lﬁ 3y+4xz1,y=x+53ﬂ'tﬁy+bx=3
wmret B, Al b R HE =R Y

@ 1
® 3
ey 6

1
o L
: 2

IH WiEl > G R A oy = x W
8 3N (3, 2) ® BT TERCA B ?

(a) x-y=5
(b} x+y=5
fe) x+wv=1
dy x-y=1

WA W@ x+y-4=03x+y—4=03N
X + 3y — 4 = 0 T By 4Tt §; 7 fogw

Tufgamg 2
w2
HOETE #

fereerarg

al
ih)
(e}

(d)

aﬂx2+yz+4x—Ty+12=D§my-HHWm
T U A We TR W 2 0

{a} 1

by 3
{e) 4
dy



83. The sum of the focal distances of a point on an
¢llipse is constant and equal to the
fa) length of minor axis
(b)Y  length of major axis
(e} length of latus rectum
(d) sum of the lengths of semi-major and

semi-minor axes

54, The equation ax? — ﬂ_ﬁ — 6 = 0 represents
(a) acircle
(b} & parabola
(] anellipse
(d) a hyperbola

55. The two parabolas y2 = dax and x* = 4ay
intersect
(a)  attwo poinis on the line y = x
(b}  only at the origin
{¢) at three points one of which lies on

y+x=0
(d)  only at (4a, 4a}

56. The points (1, 3} and (5, 1) are two opposite
vertices of a rectangle. The other two vertices
lie on the line y = 2x + ¢, What is the value of
&7
(a) 2
{b) -2
le) 4
(dy =4

EDF-5-DGY

a7,

58.

59.

60.

(17 -A)

If the lines 3y + dx = 1, vy = x + 5 and
Sy + bx = 3 are concurrent, then what is the
value of b ?

(a) 1
() 3
e} 6

1
(d) 3

What is the equation of the straight line which
is perpendicular to y = x and passes through
(3,2)?

(a) x-y=5
(b) x+y=5
€] =x+y=1
d) x-y=1

The straight lines x + y -4 =0,3x+y-4=10
and x + 3y -4 =0 form a triangle, which is

(a) isosceles
(b)  right-angled
(e} equilateral

()

scalene

The circle x° + },2 + dx — Ty + 12 = 0, cuts an
intercept on y-axis equal to

fa) 1
(b) 3
e} 4
dy 7



61. A2, -3, 3), B(5, -3, — 4) 3 C(2, -3, —2) 3w
arel Tk e 1 Fegs w2
(a) (=3,3,-1)
() (3, -3, -1)
el (3, 1,-3
{d)  (~8,=1,;-8)
62, T x? %y + 22 —Bx+ By — 102+ 1=0
frsm R 22
) B
b 2
ey T
d) 3
63, TG 2x +y+22=0 3T dx -5y -4z=17%
yfmaigr 3 fag (3, 2, 1) @ oG 91ed AWAd
1wt T f 2
fa)  10x-2y+22=28
by 10x+ 2y + 2z = 28
(el 10x + 2y - 2z = 28
{d) 10x-2y-2z=24
64, TUAHIT THAGH 4x — 2y + 4z + 9 = 0 ¥K
Bx~4y+82+21=ﬂ%?ﬁ’aﬁéﬁ‘ﬁ’m%?
1
} Frez)
(a 2
1
1 e
() 2
3
(e -
) 5
7
d 1
(d} 2
EDF-5-DGV

65.

67.

68.

(18-A)

2-318 = Taeh s #41 8 ¢

a) <1,1,1=>

by =1,0,0=>

ey <0,1,0>

(dy <0,01=

aft a =1 -2 +ska B =21+ § -3k
2, W (b -a).8a + b)fEEswEd o
(al 106

(hy =106

(e} 53

(d) -53

afe fagedl A ot B & feufs wRw

3"1\ _2} + ﬁ ﬁ'{.&: +4‘3 —:]ltg,?ﬁ A_ﬁ
=hI FFETS 1R 7

fa) 14

(b) /29

(e) /43

(d) 53

af vs wwwer By ABC H, amgrﬁp% Gl
AR . AC + BC . BA + CA . CB foas
FUET 7§ 7

(a) p

(b}
(o)

dy p



61. The centroid of the triangle with vertices
A(2, -3, 3), B(5, -3, - 4) and C(2, -3, -2) is the
point
(e} (3,1,-3)

(dy (-3,-1,-3)

62, What iz the radius of the sphere
x2+}'2+zg—ﬁx+8§?—1ﬂz+l=ﬂ?
(a) &

(b) 2
(e} 7
d) 3

63. The equation of the plane passing through
the intersection of the planes 2x + v + 2z = 9,
dx — By — 4z = 1 and the point (3, 2, 1) is
(a) 10x — 2y + 2z = 28
(h) 10x + 2y + 2z =28

-{e) 10x+2y—2z=128
(d) 10x-2y—2z=24

64. The distance between the parallel planes
dx -2y +42+ 9 =0and Bx — 4y + 8z + 21 =0
is

1

) =l
(a 1
1

(bl =
p

3

|: . i
e) 2
i

(d) -~
4

EDF-3-DGY

67.

{19-A)

What are the direction cosines of z-axis ?
(a) <1,1,1>
(b)) <1,0,0>
(e} =<0,L0>

d) <0,0,1>

— N M A —¥ A A A
Ifa =1-2j+5kand b =2i + j —3k
—

- - -
thenwhatis(b — a ).{3a + b legual to?

(a} 106
(b) —106
(c) B3
(d} -53

If the position vectors of points A and B are
M A ] N e 4]
31 -2+ kand2i +435 -3k respectively,

then what is the length of A_]g'- 2

(a) 14
(b) 28
¢} a3
(d) /53

If in a right-angled triangle ABC, hypotenuse
AC = p, then what is

— . = — = — =
AB . AC + BC . BA + CA . CB equalto?

(a) ]:a2
(b} 2 p2
3
: P
(e} 5
dy p



69, TRW a=21-67-3k ot b=4i+3]-k |72

70. » ® s A ¥ 2 Fms fom wfew
:3? +43‘ - l; Gﬂl’?i%-‘fl—ﬁ +I-':i +1Ul;
waq § 7
fa) 1
by 2
te) 3
(d) 4

71. x % MUY sec” (tan™' x) 1 Yedd F1 8 7
(a) 2x
b x2+1
(e; =+1
d) x°

EDF-5-DGY

%ﬁa%aﬁmmwmme)%

(@) —m
26

8

(by —
J26

(ch i

26

1
(d) 28

73.

74.

75.

{20 -A)

7% fix) = log (1 + xJ B, dl
df4) + 5R1) - logy, 2 TorEeh wa & 7

fa)y 0
(b} 1
- (e} 2
(dy 4

fix) = In (yx% +1 - x) g1 gfenTfee o we f,
&

(a) U HY Fe
(b) U faud wer

(c) @W 3 Ry wwm gl
(d) 7@ =9 T 8 e wem

fix) = log, 10 GRT IRWIFYa & £ 6] SHA 8

ta) x>10

(h)  x =10 BEHL, x>0

(e} x=10
(d) x=17% BEH, x>0

_ 3
1im# foreer TE 2 7

x—0) x
(al 0
thy 12
(¢} 24
d) 36



69. The sine of the angle between vectors
—% A A A —r A A A
8 =2i —6j-3kand b =41 +3j-k
is
1
{a} =
J26
5
by —
J 26
a
(e} =
1
(dy —
26
70. What is the value of A for which the vectors
Ly A A A ﬂ: A
3i +4j — k and 21 + &) + 10k are
perpendicular 7
{al 1
by 2
el 3
(dy 4
71. What is the derivative of sec” (tan ' x) with
respect to x ?
fa) 2x
) x*+1
fcd x+1 J
@
EDF-5-DGV

T2,

T3,

74.

5.

(21-A)

If flx)=1logq(1+x), then what is
4fi4) + 501) — log;, 2 equal to ?

ta) 0
thy 1
(e} 2
dy 4

A funetion f defined by fix) = In (m - %)
is

(a) an even function

(b}  an odd function

{c)  Both even and odd function

id) Neither even nor odd function

The domain of the fTunction f defined by
f(x} =log, 10 is

(a) x=10
(h) x>0 excluding x = 10.
cd x=10

(d) x> 0excluding x =1

3

1—cos” 4x |
is equal to

:!iTu x?
(a0

by 12

fed 24

idy 36



76.

r>0 % fou, G5 r % uw g9 & gy
BA%A W YW fir) B | A9 R1) + 12) TR
TR ?

() 1
by 2
(cl 3
d) 4
77. A ) =38, T flx) fly) flz) ThEs st
£2
fa) flx+v+z
h) filxey+z+1)
ey fix+y+z+2)
dl fix+vy+z+3)
78. W ¥ + 9|x| + 20 =0 % T Al
el 1 e 2
(a) T
(by TH
(¢ @
(dy =
79. A fix) = sin (cos x) &, A £'(x) Fortreh T 2 2
ta) cos{cosx)
(b}  sin (—sin x)
(e} (sinx)eos (cosx)
{d} (- sin x) cos (eos x)
80. FeH fix)= J2-x)(x-3) HEEA R
fal (0, &)
(b) [0, =)
(c) [2,3]
td) (2,3
EDF-S-DGY

B1.

82,

83.

(22-A)

Hehe] HH T %:ms{y-——x}+l WA B
X

(a) e[sec(y—x)—tan(y-x)]=¢
(b)
(e

(d)

e*[sec (y —x) + tan (y —x)] = ¢
e sec (y—x) tan (y —x) = ¢

e" = ¢sec(y-x) tan (y —x)

I
j |sinx —cos x| dx ToFEeh a(Em 2 9
0

ia) O

(b)) 2(V2 -1)
@) 242

(dy 2(42 +1)

afg y = acos 2x + b sin 2x %,?ﬁ

(a) EE‘} +y=0
(b) —j:-??i+2y=ﬂ
(c) :%’T—:ly:{]
(d) iigqrtt}r:ﬂ

u1g 1 Uk & M WA H1 v A "o (i
U AHARHR ATUR 3R 2dgaern ol aren)
H g ® | Al T TS dAwe B e
@ A, 9 sen il FEE H UG
TRl % = & 319 =2 2om 2

fa) m:(m+2)

(b} (m+2):m

e} 1:1

(d) I ° A wIS A8



76. Forr =0, fir) iz the ratio of perimeter to area | 81.
of a circle of radius r. Then f{1) + f(2) is equal
Lo
a) 1
(bl 2
ey 3
dy 4
77. If fix)= 3" then fix) fiy) flz) is equal to
) flx+y+z) 82,
bl flx+y+z+1)
ey fHx+vy+z+2)
(dy fix+y+z+3)
78. The number of real roots for the eguation
4+ 9]|x| +20=0is
(al Zero B3,
bl  One
ey Two
{(dl  Three
79. If fix) = sin (cos x), then [ix) is equal to
(a)  eos (cos x)
(b} sin(—sin x)
{¢) (sin x) cos (cos x)
{d) (—sin x} cos (cos x) Bk
80, The domain of the function
flx)= J2-—x)(x—3) is
(a) (0, =)
by [0, =)
(el [2, Blh
idl (2, 3)
EDF-5-DGY (23-A)

The solution of the differential equation
:—i =cosl{y—xl+1i1s
fal e*[sec{y—x)—tan(y-x)] =e¢
(h) e*[sec{y—x)+tan({y—-x)] =¢
(€) e“seciy—x) tan(y—xl=c¢

(d) e =c¢sec(y—x) tan (y —x)

2
J |sin x — cos x| dx isequal to
]

(fa) 0
(b) 2iv2 -1
ey 242

(@) 2(42 +1)

If v =acos 2x + b sin 2x, then

(a) %+y=ﬂ
(b 3£§+2y=ﬂ
(c) %—43-:&
{d) %+4y:[}

A given gquantity of metal is to be cast into a
half cylinder (i.e. with a rectangular base and
semicircular ends). If the total surface area is
to be minimum, then the ratio of the height of
the half cylinder to the diameter of the
semicircular ends is

{a) m:lm+2)

by (m+2):m

e} 1:1

id} None of the above



ta | A

85. Qoin cos xdx e saEn % 7
]
a) e+1
by e-1
{¢) e+2
id) e
g6. IR f‘m="‘2, x+-28 T flx
X+ 32
T B 7
{a) Az v2
x-2
+2
TR s
W =
(c) Xx+2
x—2
(dy 201 + x)
1-x
R7. I In(x*) dx Torees s & 9
ta) 2xinix)-2x+c
(bl 2 I e
X
(e} 2xin(x)+c
{d) % h-i'-“-!i — 2%+
X
EDF-5-DGY

828,

88,

ferereh

(24-A)

forg (4, 208 y* = 8x A aroaem gl Fres we
87

(a) 2
(b) 242
ey 2

d) 342

y-3E H qE-fag W e we A ge-fem
=l FATHe FHIF B

2

+_~-,r2--2:'c,3;E

[a}
5 * dx

(b :-:2+3,f2+2.1i_\,,=‘:l—3'r =0

dx

6} x*- N 2xy dy =0
dx

() XE—}'E—Exyd—}r =0
dx

el FHIEH j:j +2[%}2+9y:x%
Hei # Frefofas o faar Hifaw

1. fawe et i um (feft) 12

2, T WU T HifE (AET) 2 R |
3T FeET A # FA-EVH FE B E 2

Had 1

Had 2

130 2 gHi

Ad 1, AE2

(a)

(T}

{e)

(d)



ik 88,
85, j e % cos x dx s equal to
0
(a) e+l
ih) e-1
ey e+2
BO,
d) e
86. If fix)= x—21 x = —2, then what is ~ix)
equal to ¥
4(x +2)
(a) e
x4 2
b dfx —2)
00,
x+2
(e} = 5
() 201+ xl
1-x
87. Whatis j In(x?) dx equal to ?
{al SZxilnix)-2x+c
i{h) 2 + e
X
c) 2xlnixl+e
@ 2 arie
x

EDF-5-DGV {(25-A)

The minimum distance from the point (4, 2} to

}*2 = Bx is equal to

(&) 2
(b) 242
ey 2

(d) 342

The differential equation of the system of
circles touching the y-axis at the origin is

(a) :~;2+:..f2—21-;:,rE =0
dx

{h) 32+}f2+ Ex}'d—}r =0
dx

v xi—y%s4 Exyd—y =0
dx

(d) x° —y2 —zxy£ =0
dx

Consider the following in respect of the
differential equation :

dz i '\2

dg +2LgJ + Oy =x
X

1.  The degree of the differential equation

is 1.
2 The order of the differential equation
is 2,
Which of the above statements is/are correct 7
{a) 1only
(b} 2 only
ic) Bothland?2

(d) Neither 1 nor?2



91, 3Tawe HIEHT g-—"+i=u 1 =A% B 41 | 95.
PO,
87
(a) x°+ _vz =
(b x“-yi=c
@) x°4 FE = oxy
dl x+y=¢
96.
sin =0
92, k ® 98 T # R A f)=d ;™
=
x = 09T Head F=0 8 7
(a) 2
b 1
el =1
@ 0 97.
93. a’x + bly HT A A, &l xy =c B, F1R ?
(a) abe
{b) Zabe
(el 3abe
id) dabe
94, I ¢l gy Freh WUET R 2
X
(a) S +e 98.
Inia)
X
b = -
b fr{a) L
X
e
0 ey
d ae*
W T
EDF-S-DGV (26-A)

%yzcsiﬂxﬁ(x—ﬂﬁ%ﬁﬂ%ﬁﬂ

(S[9) 1 & 41 & ?

fa} ¢

(b} 2¢

(c) 3c

id)  4e

Ilﬁ 5in 8 + cos 0 = /2 cos 0 %, Al
{cos 0 — sin 8) TohHeh TT@m 2 7
(a) —2cosh

(b) - V2sing

(¢) /2sind

(d) 2sin0

U g1 [T = 44 om B, I UH Sy i
e 22 cm B | Sffer 1 w19 w79 Y T w®n
27

; 484

{a) H om
242
(b) a1 cm
el %1 cm
id) % cm
ﬂﬁsinﬁ:—l 1T tan 6 = i %, &t o frw
2 J3

Taylsr ¥ 1wa1 8 7
{a) HUYH
M Gic
(e) A
(d) =qgd



91. What iz the general solution of the differential
equation dy 42=07
dx ¥
a) =x°+ }'2 =
b} x*— }rz =
2
(g} = +¥ =exy
dy m+y=c
92, The value of k which makes
]sin x x=z0 1
fix)= continuous at x = 0, is
1l  =x=0
(a) 2
by 1
(e} -1
(dy 0
93, What is the minimum value of a®x + bzy
where xy = 27
{a) abe
(b} 2abc
(c) dabe
{d) 4dabc
94. Whatis j gtintal gy equal to ?
W inia) i
X
thi ——#*t
fnia) é
EK
© —+
" {nlae) ¢
T
) ae
3 Inia) i
EDF-5-DGV

95.

96.

97.

a8.

(27-A)

What is the area of one of the loops between
the curve v = ¢ sin X and x-axis ?

{a) ¢

bl 2Z2e
fed  3e
d)y 4dc

If sinB+cosl= \Ecusﬂ,
(cos ® — sin O) equal to ?

then what is

(a) —A2cosl

(b) - /2sin0

(¢) /2sin0

id) Z2sin8

In a crcle of diameter 44 ¢m, the length of a

chord 1s 22 cm. What is the length of minor arc
of the chord ?

(a) 57 o
(b} L cm
21
121
6 =
/ 21
44
(d - cm
7
; 1 1 g ;
Ifsin 8 = — = and tan ® = ——, then in which
2 <3

quadrant does 6 lie ?

{a) First
(b} Second
{c)  Third
id} Fourth



99.

100.

3TF 1, 2, 8, 4 31 5 =1 TG weh Hd9 R R
foraft T g et o w8, SEfe s

=1 g ot ey 7257 & 2
tal) 36
iby 30
(e) 24
dy 12

h 3978 &1 vF W F Uh g A9, 9
i o e gfior 4 B, 3999 FI0 « 2 @ U
fog B®, o fo5 A w0l @& 4 B, T w01
2 | af2 AB = 2 2, 71 Frafetfigs 1 & w9 v
a7 ?

F

{a) h? {cntzy—cutz x)=g
() 2 (cot® V- cot® x) = h®
(¢) h? lﬁi.:m2 y- tan? x) = 7
(d) 72 (tan” - tan® x) = h®

101. 71 i v ¥ vl afgs ™ e

102,

EDF-5-DGV

AT # | SigEd 99 % U g9 B oh! wTRReRa
R 7

1
{mi
51
1
(Y i
C T
1
d e
@ 3
gfz A o B # wead T wwn B2 OfE

P(A) = 05, P(B) = 0-6 R P(A N B) = 04 B, 7@

PiA LR ) Toroes s 2 2

ta) 08

(b 07
e 05
ed) 03

103. UF 49 ©i9 faenfe=i A, B 3 o =i o s 2

104.

105.

(28-A)

foeht voa =1 2e s @ wifawand som %

E. 3 i. 2 | ofg 3 =t =3 =9 4 9 H
7 &4 B dt 59 " & e e 2 e oum
=1 B fuet s 2

29
{ iy
a) 39
g EL
32
25
(L} E
23
(d) 32

froqe Tt & uw g W) G (RIS
2 | % W % WIE I 98 oFLd 8 a 39 &1 o6l
StiféeReT 41 # 7 gE O % werh 1 A 9Ee
U % e o 0 o il @ 2

{a)
th)
el

(el

— ol | O | —_
o o BRI R

= fmer faess =1 Somem T R Ty § Wy
TH aEfyTd T & e M | @ fem oW
YT 2 A 4 T8 WIH A o wiReear =
27

tal ;
() %
(e) %

1
(d) ry



99.

100.

How many three;digit even numbers can be
formed using the digits 1, 2, 3, 4 and 5 when
repetition of digits is net allowed ?

(a) 36
(by 30
(e 24
d)y 12
The angle of elevation of a tower of height h

from a point A due South of it is x and from a
point B due East of A is y. If AB = 2, then
which one of the following is correct ?

(a)  h*(cot” y - cot® x) = 2

(h)  2* (cot? y- cot” x} = h?
(c) h? l{ti..mnﬂ:g«'—iz:;ln'3 x) = zﬂ
(d)  7°(tan” ¥ - tan® x) = %

101. From a deck of cards, cards are taken out with
replacement. What is the probability that the
fourteenth card taken out is an ace ?

1
{B:l E—].
4
(b -=
) 51

1
{c) E
1
{d —
) 18

102. If A and B are two events such that
PiA) =05, P(B) = 0-6 and P(A N B} = 04, then
whatis PCAUB ) equal to ?

(ay 09
(by 07
(el 05
(dy 03
EDF-S-DGY

103. A problem is given to three students A, B and

104,

105.

(29-A)

C whose probabilities of solving the problem

are %, g and % respectively, What iz the
probability that the problem will be solved if
they all solve the problem independently ?

29
32

27
32

fa)

(b)
25
32

23
32

(e)

{d)

A pair of fair dice is rolled. What is the
probability that the second dice lands on a
higher value than does the first 7

(a) %
b 3
© {%
@ =

A fair coin is tossed and an unbiased dice is
rolled together. What is the probability of
getting a 2 or 4 or 6 along with head ?

(a) %
(b) %
{e)* i
@ 3



106. 3% A, B, ¢ 91 7t &, & 30 § FH-GFH @

107.

108.

HeATSA % U H1Y ged &) aifiesan o1 8 7

{(a) PANB)+PEMNCH+PICMNA)

(b)) PANEBEI +PB N C)+ FIC N A) -

PIAnB N

PIAN B+ PIBNC)+ PICN A -
2ZPANBNO)

el

PANB + BBBnNn Ch+ PICN A -
ARMANBNO)

(d)

#f2 21 =1 X o1 Y =y B, o 39 == gggey
TUTT TR Y

{a) 1

{(by =1

w0

(@ I H H e TH

4 TEad "eAd A Rt B @ wen 8 f

P{&UB}zgaﬂTP{ﬁﬂB}=%%l

Ife P(B) < P(A) B, AT P(B) fopeeh st 8 7

{a) %
(b) %
el % 5
(d) i
EDF-3-DGY

109.

110.

{30-A)

uF G (100) FEOT w1 WEY 50 B W IR
e faeed 10 | afe soi e | H 5 ua
foam s & o fil 3% 4 @ fawifm = femn
AT B, A T we H T A e A

T B 7

{a} 45,5

th)  11-325, 1-25
(e} 11-25,2:5
(d) 12:5,2'5

afz &1 froger rEt =i e W 2, 99 39 o9
1 gl wrfesar = 2 fF TEe TE w6
i, waf 77 far gen 2 f6 arEi 9 e i
%1 TTEA 8 B 2

(a)

| b=

ih)

|

()

o |

(d)

O | =



106. If A, B, C arc three events, then what is the

107,

108. Two independent events A and B are such
that P(A U B) = % and P(A N B) = é If
P(B) < P(A}, then what is P(B) equal to ?
1
[ =
a) 2
1
by =
4
{e) .
2
1
di =
ll 6
EDF-5-DGY

fa) 1

by -1

(e} O

(d)  None of the above

probability that at least two of these events
oceur together 7

(a) PAANBI+PBNCH+PICNA)

() PANB +PBNC + PICN A -

PANBN O

PANB +PBNC +PCNA -
2PANBNC)

(o)

d PANB+PBNC 4+ PCN A -

SPANBNC)

If two variables X and Y are independent, then
what is the correlation coefficient between
them ?

109. The mean of 100 observations is 50 and the

110.

(31-A)

standard deviation is 10. If 5 is subtracted
from each observation and then it is divided
by 4, then what will be the new mean and the
new standard deviation respectively 7

{al 45,5

(b)  11:25, 1-25

(e . 11-25, 25

(dy 125, 25

If two fair dice are rolled then what is the

conditional probability that the first dice lands
on 6 given that the sum of numbers on the
dice is 87

1
ay =
( 3

=i

(b

|

)]

D =

{d)



111, 1 Fufie gt o ST R, were i % | 118, T % 52 e it wh T A & we B Ages
31 erd T 1 &, 9 w1 8, wh de o w9 W T AT 2 | 3\ W A im0 2
o s W v B E (g (P G T G e 3 (T 9R)

£ wifrwar =1 2 5 4l = s SEn T e 2
1
(a) —

b)) —

o
e
o

(g) —

{e)

;Ir_n

4

(d) 7

1
(dy =
: 3

114, U U 1 1S A Hewr Fran @ afv 3w 5@
112. T o9 & o0 & Red & 8 i ae 6 I AT WS WA SIAT 8 | et 6

1 # | 9f2 2 e afos w1 & o et # T WO 1 A S A ferer L B
aﬁtwmﬁm&ﬁm%tﬁaﬁgﬁg

5 16
St e o E, A on o E R @ 3%
ta) 3 8 i
(b} 5o
{b) 4
4 4
( S
el 3’3
e}y 5
id) %u %?
d) 6 2

EDF-8-DGY (32-A)



111.

112,

EDF-5-DGEV

Two symmetric dice flipped with each dice
having two sides painted red, two painted
hlack, the other
painted white. What iz the probability that
hoth land on the same colour ?

one painted yellow and

{a) faﬁ
(b) g
(e :_8
G %

There are n socks in a drawer, of which
3 socks are red. If 2 of the socks are chosen

randomly and the probability that both

selected socks are red is ; ., then what is the

valueofn ?
{a) 3
thy 4
(¢l 5

dy 6

113. Two cards are chosen at random from a deck

114,

(33-A)

of 52 playing cards. What is the probability
that both of them have the same value ?

{a)

(b}

(c)

{d)

In eight throws of a die, 5 or 6 is considered a
success. The mean and standard deviation of
total number of successes is respectively given
by

5 186
a _r ———a
-
gy 24
3 3
(el i. &
a8
T
4 9



115. 21 5ot A 3R B 39 ywK 3 6 A 3R B
oAt a2 | A PA) = 05 3T P(B) = 06
2, a1 P(A|B) T AH #2182
(a) %
1
®)
ic) 3
]
1
{d) 5
116. Frfafias seAt w fT=n $ifau
1. °Hl % U gY=4 H 9% Gl 9 o
famert = i IMTEER Ted I EAl
8
2, _%Hﬁfﬁﬁéﬁ%%ﬁ
TR AT > WER > Fge (WiE) |
I FeAl W wEAvE B AR 2
(a) oA 1
(b) A 2
(e} 13 2 gE
(d) AW 1, TE2
117. oF &fifm X 3t v % <9 oedey O 06
2 | aefess = Z ot W 39 g 9fonfia @
ﬁz:x+53ﬂTW=§%tzaﬂtw%aﬁa
HeEHEy U w1 R 7
(al 01
b} 02
(¢} 036
(d) 06
EDF-S-DGV ( 34

118. I 1 3fft 20 % o= F @eft = QU] 1 3 &
o =t e S 2, afwrdt defi s owE
FTE 7

{a) 9975
(b) 19975
(c) 29925

(d) 889-25

119, 30 =1d = widswa #=1 # 7 et 99 &1 0%
srafts feg 3o ofify & omen 3% F5 %

siferes @i 2 2
(a) %

{b) % |

{c) %

) == Fauife 8 fe = a=a

120. 3z A 3 B2 oA &, 79 A A T A A
U B gfed B9 & wilma s g 2

(a) P(A)+P(B)
(b)  PAUB)

icd PANMNB)

(d) P(A) P(B)

—A)



115. A and B are two events such that A and B
are mutually exclusive, If P(A) = 0:5f and

P(B) = 0-6, then what is the value of P(A|B) ?

ta) E
B
1

(hy =
a
2

{c) '."_;'

: 1

idy =
3

116. Consider the following statements ;

1.  The algebraic sum of deviations of a set
of values from their arithmetic mean is
always zero,

2, Arithmetic mean > Median > Mode for a
symmetric distribution.

Which of the above statements is/are correct ?

{a) 1aonly

(h} 2 only

(c) Bothland2

(d} Neither 1 nor 2

117. Let the correlation coefficient between X and

Y be 06, Random wariables Z and W are

defined as Z =X + 5 and W = %r—.W'hat is the

correlation coefficient between 7 and W ?

(a) 01

b 02

e) 036

idy 086

EDF-5-DGY

118. If all the natural numbers between 1 and 20

119.

120,

(35-A)

are multiplied by 3, then what is the variance
of the resulting series 7

{a} 8875

(b} 19975
(e} 29825
(dy 399-25

What is the probability that an interior point
in a circle is closer to the centre than to the
circumference ?

1

( &

a) 7

1

by =

2

3

( i

(] 1
id) It cannot be determined

If A and B are two events, then what is the
probability of occurrence of either event A or

event B ?

(a) PlA)+ P(B)
(b) P(AUB)
{e} PANB)
(d}  P(A) P(B)
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